N & 0l & AF S & M M

2099 = =& 3 3 GIEZSMUFRYE SE3IH S22
AN AASEN
g otd FHl
¢ StESTAMF MS(SHEZSUHUA2E SE3H) (Sl & &)
SN B SR(EH) - MBAY - BES 0] &b 2 p/E-T HDE2
et S 2t 8,711,302 12,963,659 AN4,252,357
otd Hl 1,826,000 9,778,357 AT,952,357
SIEZMUA MG (SHESUIMF2E SE3H) 1,826,000 9,778,357 AT,952,357
=MIF 24 2 2el 26,000 1,519,500 A 1,493,500
201 Let24E] 12,000 52,000 40,000
01 AFR2telHl 9,200 49,200 240,000
Oget=EH| 5,000 45,000 A 40,000
—SsMIHES==2 0& 0 40,000 40,000
206 M= Hl 10,000 53,500 A 43,500
01 M= 4l 10,000 53,500 A 43,500
O&=Ald2e| 10,000 53,500 A 43,500
—NHEHEZ &M HolERY 0& 0 10,000 A 10,000
— &S AE 22 ARB(BASZTA W=D
s)7¢ 0& 0 15,000 A 15,000
— X 2ol ME2(Hg 8) 7 0 0 15,000 A 15,000
—XNENEZZ HMAIL(OFZEXY &LE S
)7 8,000,000 8,000 10,000 A 2,000
— SN 2AEBS(H2UHIN=EENS) 2
0& 0 1,500 A 1,500
401 AIEHI L 20 0 1,400,000 21,400,000
01 A€ HI 0 1,390,820 1,390,820
O=THIHF AL 0& 0 993,700 A 993,700
O=MMHHAE Q12 FLIIRoH ALY 0& 0 397,120 A 397,120
03 Al S THHI 0 9,180 A9,180
O=THIHF AL 0& 0 6,300 A 6,300
O=MMHHAE Q12 FLIIRoH ALY 0& 0 2,880 A 2,880
405 TtabFH S 0 10,000 A 10,000
01 AL ESFH SH 0 10,000 A 10,000
O2M% HJIHIERY (ME, AL S) 0 0 10,000 210,000
0l Bl 8l 1,800,000 8,258,857 A6,458,857
801 OilHI 8l 1,800,000 8,258,857 N6,458,857
01 Brolldlbl 1,800,000 8,258,857 A6,458,857
Oaolgldl 1,800,000, 000& 1,800,000 8,258,857 A6,458,857
HRaes(ctESMHASLISEIA) 6,700,000 3,000,000 3,700,000
HEHHXES(GHESMUHA2E SE3IH) 6,700,000 3,000,000 3,700,000
LB AN E S 6,700,000 3,000,000 3,700,000
701 JIEtSI HEHES 6,700,000 3,000,000 3,700,000
01 JIEtHEES 6,700,000 3,000,000 3,700,000
Octd=MMFA=2E SEH d0= 6,700,000 3,000,000 3,700,000
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3,700,000




